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1. Introduction
In RAN1#76 meeting, many discussions were focused on the synchronization assumption between MeNB and SeNB for dual connectivity. An LS was sent to RAN4 to ask the synchronization accuracy between MeNB and SeNB as follows [1]:
RAN1 discussed synchronization assumption between MeNB and SeNB for dual connectivity and agreed following working assumptions:

· Dual connectivity should support the scenarios where UE can assume the maximum received timing difference from MeNB and SeNB is 30.26 + X micro sec

· Note: The value X is up to RAN4 decision on the potential requirements of synchronization accuracy between MeNB and SeNB

· Dual connectivity should support the scenarios where UE cannot assume any maximum timing difference from MeNB and SeNB

· SFN-level alignment across MeNB and SeNB is up to RAN2 decision
In this contribution, we analyze the synchronization accuracy requirements between MeNB and SeNB for dual connectivity and provide our view.
2. Discussion
In CA scenario, A UE should cope with a relative propagation delay difference up to 30 us among the component carriers to be aggregated in inter-band CA [2]. Since the BS time alignment error is specified to be up to 260ns in 36.104. This implies that a UE should cope with a delay spread of up to 30+0.26=30.26 us among the component carriers monitored at the receiver. 
When MeNB and SeNB has ideal backhaul, dual connectivity is almost like inter-band CA scenario. The time alignment error of 260ns for inter-band CA should be applied for dual connectivity. Thus, no additional margin is needed for synchronization between MeNB and SeNB.
Proposal 1: For dual connectivity with ideal backhaul, no additional margin is needed for synchronization between MeNB and SeNB, i.e. X=0.
When MeNB and SeNB are deployed at different location with non-ideal backhaul, the situation is different from inter-band CA. The timing alignment error needs to consider a synchronization error between MeNB and SeNB. In RAN1’s LS, it is presented that SFN-level alignment across MeNB and SeNB is up to RAN2 decision. Thus, the synchronization error between MeNB and SeNB should consider RAN2’s decision on SFN-level alignment.
Proposal 2: For dual connectivity with non-ideal backhaul, the synchronization accuracy requirements between MeNB and SeNB should consider RAN2’s decision on SFN-level alignment.
3. Conclusion
In this contribution, we provide the analysis on the synchronization accuracy requirements between MeNB and SeNB for dual connectivity. The following proposals are provided:
Proposal 1: For dual connectivity with ideal backhaul, no additional margin is needed for synchronization between MeNB and SeNB, i.e. X=0.
Proposal 2: For dual connectivity with non-ideal backhaul, the synchronization accuracy requirements between MeNB and SeNB should consider RAN2’s decision on SFN-level alignment.
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